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Paper-II 5

PAPER —-11
GENERAL STUDIES & GENERAL KNOWLEDGE
(Total 200 Marks)
(Total 39 Question)
Unit -1 (65 Marks)
@Fe — 1) (65 3i®)
Part - A Marks : 10
HAT — e : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries

2 marks.
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1. Explain the role of the concept of “sthit pragya’ in the discharge of administrative |

respon51b1hty
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fa LA . A 1
- FTAXT =P LYT

JGI RS ALV IANTE A7

Li

~&ug——< z-T W Uuad AT - MVYAC -

T+ Mld.Hcf
_qoaTi ., IS T c—m!'ﬁ )’?F‘-'rr‘erzﬁr@‘ mm.cm

e W g -‘#ﬁ—mﬁ?’\

2. What teachings of Buddha are most relevant today and why?
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1.25(0Onevs)

(Q.Unit-1-A-1)

1.5(0ne’%2)

(Q.Unit-1-A-2)
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3. What do you understand by ethical dilemma?

e &g W a1y T4 uey ¥
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4.  Explain the relevance of ethical 1d2a of ‘Rina’ in the administrative life,
wRIfE Sitae WE‘%%maﬁmﬁTﬁwaﬁmaﬁml

SO ST A - ﬁ‘J\' AT W ﬁﬁﬁﬁm
() e AT E T T AT ] Srqq.
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5.  What way  ‘detachment theory’ of Bhagvad Geeta is significant in the life of an
administrator?
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Paper-1I

.

Part - B Marks : 25
. M — ¥ . 3w 1 25
Note: Atternpt all questions. Answer the following questions in 50 words each. Each question carries
5 marks.
e ; wff et & SR ¥ | e BT 9eR 50 - 50 weat ¥ %) vw w3 5 o feiRa €1
6. ‘Men’s Moral Advancement depends upon complete advancement of society.” Discuss.
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7.

WW‘@F&M A AHG NG 3‘;5“14\,“;,1

%_;‘12M'aﬁ" ATT qasfat

“Family is the most important institution for the moral development of man”. Evaluate this
statement.

“IRAR g @ AR Rerg 3 G Aewgel e 217 39 T B GHET SN -
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(Q.Unit-I-B-7)

1.25(0OneVs)

(Q.Unit-1-B-6)
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8.  Explain the Kant’s ultimate good on the basis of relative and categorical imperative.
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9. What are generally considered to be the minimum basic neéds

"
SN ALY A

E

healthy and productive life? What is the administrators responsibility in ensurmg i thes
minimums?
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of an individual to lead & -
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(Q.Unit-1-B-9)
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(Q.Unit-1-B-8)
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10. What are the core athical values required for excellence in civil service?
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Pa;'t_ -C Marks : 30
HAT — | aiw : 30
Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries
10 marks. - .
G Wl uee & SR ) e w1 SR 100400?@“?*%&‘1%‘@?%10%%%
gl .

pr—r

11. “Necessarily related, means cannot be separated from ends. Therefore, both must be auspicious
for real and lasting success.” Explain the above comment in the context of Gandhian ethics.
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1(One)
(Q.Unit-I-B-9)
4(Four)
(Q.Unit-1-B-10)
0.25(Zero’a)
(Q.Unit-I-C-11)
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'12." Explain the factors essential in “Ethical decision” making. In case of ethical decision being against
to administrative decision, how will you harmonise them? Explain with examples.

“3Fre Frot o § Aetayr BRel B wAwsy | @Rk AR ol garae Pl @ v @, |
T o QT A [ TR WA 17 AR F |

B RN TN 1C N Y B e C L e i L

LN

m- | { — —Hid __Sﬁ T — \'.
""L""! |@"—L4 -

=

c__ el ¥ YW1 Cae
S BIF Nl e

l - -
" H@w 0E ayw ERA - (1) IXTTHA #Fn“lﬁﬁi lﬂ?{"##
(Tgopar Q1) IS o (v) add iz e O) aqsizllmy’

W) oAz {(vin ey ) All%ﬁﬁw

(T e T VT & A e

] ARG EGTEITLE '-H‘CﬂﬁWﬂ'/ w

0.5(Zero’%)

(Q.Unit-1-C-12)
1(One)
(Q.Unit-1-C-12)
1(One)
(Q.Unit-1-C-12)
1(One)
(Q.Unit-1-C-12)
1(One)
(Q.Unit-1-C-12)
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13. *Each other’s snccess teaches a lesson for better governance.”
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__ Unit — 1T (70 Marks)
(!Iﬁ'a — 1) (70 i®)
Part—A ) Marks : 10
AT — 37 3w : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries

2 marks.

e ﬂuﬁmzﬁwa"lﬁwnﬁiﬁrww 15 ISt ¥ © | U@ T @ 2 oiw iR £

1. Differentiate between nuclear fission and fusion..
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2.  Explain the role of calcium carbide in the artificial ripening of fruits.
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0 (Zero)

(Q.Unit-11-A-2)

1.5(0ne's)

(Q.Unit-11-A-1)
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3. What is an OTT platform"
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4.  What is the basic concept of operation o

f/RFI]Z)? Give two a phcatlon of this technology.
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5. What is the dlffcrence between Pol

ar Satellite launch vehicle and Geosynchronous Satelhte

launch vehicle?
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Part-B . : Marks :
HAT — 9 AP ¢ 20

Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries
5 marks.
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6. Write any five benefits of the medicinal plant GuduchllGlloy
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7.  What is Cryptocurrency? What are its advantages and disadvantages?
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1(One)

(Q.Unit-11-B-7)

2(Two)

(Q.Unit-11-B-6)
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_8_. What are the dlﬂ"erences between the previous generations of mobile networks and 3G %
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9.  Write the objective of Missiles and Strategic System (MSS). Name the laboratories which
comprises MSS clustre.
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10. (a) Which property of carbon is responsible for formation of large number of compounds"
_(b) Write domestic and industrial applications of carbon compounds.
(c) Give an example of each —
(i)  Artificial sweeteners
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11. Describe the functioning of the human eye and ex
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12.  Explain the concept of real time-PCR. What is ‘Ct value® in RT-PCR Test for Covid ~19?
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13. Mention the contribution of the following Indian Scientists —
(1) Homi Jehangir Bhabha (ii) Sir Mokshagundam Visvesvaraya

(iii) Satyendra Nath Bose (iv)y M
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Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries
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Wnte about time range of Mesozcuc era.
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3. How Shivalik Himalayas was formed?
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4. Write the names of Mountain Ranges/Hills of Western Ghats,
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iscuss 1in brief the geocrraph1cal features of Rocky Mountain range.
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Discuss the geographical characteristics of Tropical evergreen forest of Indi
of India.
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9.  Discuss the physical features of Hadoti platean of Rajasthan.
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10.  Discuss the distribution of 1 major metallic minerals of Rajasthan in brief.
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11. Describe the problems of Geopolitics in context of South East Asian countries,
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12. Describe the development of non-conventional energy in Rajasthan.

RISTRA ¥ IR—RERFETT Sl & e &1 fawr S

RS = sy e ” 0
() I<TE . P [ ¢ !

o HEPT AL (224 MW ) > ACFCTH
o N FrET (925 W) WG ~LE( S
e (M7 EEIC (AT =& TE G Bnl ANz

o | 2024 J4 26060 12737 gwdh“':m]g,/j':,ps"'—ggrz_,

—_— .\ . L { oy e - —
| COrRge —9amy( ,éﬂ._?‘-f(/} _

FIUSTU IfaEyy ) - \_./@?ﬂfm')

— Doc: e ow5 DO M 47@?1’”3 ﬂ"T}

L e |
e T VTR YN )[4 B~ e KL 1

r G *W_—%}—a‘y.gja,r Mqr} | L
. S qpine
TGS Ay mipr Ay \ AN
P dargs STSIET | =) |

o)

1(One)

(Q.Unit-111-C-11)

2.5(Two’2)

(Q.Unit-111-C-12)



R

C]) 9 5«»?;,_& ;uﬂq‘ff_ﬂ)ﬁm -
- [2F 000 Mw “Tal WAL B sald i
T Dic e a5 A ATy PQ_WH_Q;, ..

~Pmn5.{?m( ﬁfﬁﬂ/m“(‘ﬁ'ﬁmu) | —|

ks “W BT 3""“”/ ~IE ﬁvw/ | 2(Two)

26 —q‘f’f ¢q Ef{(?f 'gﬁg y—_ ’Ln[? R ]E O‘U’_c %U (Qnit-111-C-12)

\ L,
d,fﬁ.nldj l
\ A 1 \-‘ '
U A AE R I AT A—A
g . S Xl I(/)‘ & B[ T
—[q9m T . IA W= *’Hﬂ?’/

_1a
RGETT A 2898 MW % T g HWVA/

t‘?j?k@\ ) C1 Lo R - ' ‘ —

S’)W' G35 — HMa g

rACEIT (K7y0) (One)
%”@ JHQ /'_’dl . (Q.Unit-1lI-C-12)
— erzﬁff/lmr T — 1 |

13.  Explain the concept of Geo-heritage and highlich
tit
3~mvwa%mamvnzﬁ’rmaﬁ%§ sl

potentialities in Rajasthan,
AT TSR 3§ AT TR yeprer SR ,




e IIIHNIIll!llllllllllllillilllliilll

iy f\,. \_ \ -~
<1u—|£ﬁ‘“r7?’ G L TR AT Y =y o % Kﬁi‘#ﬁm-—'

lékl o &—&ﬁ%ﬁ f’fﬁ%ﬂ?‘_ c@g;";;qr? —

Q) W @wEe )
VARSI L"“(’/ T e SR

\ N\ L

EN 260 9 /‘LZL 2] IUﬁF} éﬂ l%iﬁﬁ ?ﬂ'ﬂgﬁ ’
. 'Hf}é T %|.g|?7: | '

. . L\ |

) TZ PRI ( wwﬁ’)m,upu. = FTR ‘e g

s-r | \
% WNQITJ[W

) H?I%ZJWT( swmcaa;an) (% u == e

ﬁ“-\'l?)—\\/) *#Fﬁa’HlMl{L’ Hrvmu, = de—gﬁr—qazﬁt_
_L_
L] Pr v—«cﬂm & H1%% /Qre/_é‘( \sa:mu—f():'

Qm) JZ- allél"_@;a_ («1@\L g\s,} )
L'”/ %ﬁzlb ( w:/g/ UN_} ->H_('ll0} '\{(H‘J,Lga'g

1] .

e s S B AL QT R M;LS‘)

— /) Y T43TH EH\QH -
N ~ d737y ®C L'a l{é'w?’l
| | .——ﬂ'mién T -zu HC

e

~ aﬁb;a;( (",.s( '5!‘;)" E A mlof dlt. “h
'T’EFE'T ‘Tf,)n j - |

1(One)

(Q.Unit-111-C-13)

2(Two)

(Q.Unit-111-C-13)

0.5(Zero’?2)

(Q.Unit-111-C-13)



Paper-II

' IIII|l\||l\|||H|l|||H|llIlIII\!HIIIIUIH) Il

_ SPACE FOR ROUGH WORK







N A
Move e 1, g

i




